UNIVERSITI TEKNOLOGI MALAYSIA

ASSIGNMENT:- 02

SCHOOL OF COMPUTING
FACULTY OF ENGINEERING
SUBJECT:-DISCRETE STRUCTURE
SUBJECT CODE:-SECI1013-08

Group-08
1. Nabil Rayhan-(A20EC9107)

2. Nazmus Sakib-(A20EC4046)
3. Shahariar Showmik-(A20EC9108)

LECTURER:-Dr. Nor Azizah Binti Ali




ANS TO THE QUESTION NUMBER :- 01
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ANS TO THE QUESTION NUMBER :- 03
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ANS TO THE QUESTION NUMBER :- 05
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ANS TO THE QUESTION NUMBER :- 06 & 07
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ANS TO THE QUESTION NUMBER :- 08
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ANS TO THE QUESTION NUMBER :- 09
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ANS TO THE QUESTION NUMBER :- 10
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